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fi!CA Standards Check 2
2a. Some 1% milk is mixed with some 2 %

to produce 10 gallons of 1.3% milk
much 1% milk and how much 2 %
mixed?

~~~~~~~irs~oQf an 8% bleach solution is
liters of another bleach

uce 20 liters of a 5% bleach
ercent bleach was the

s lution?

1 Buck can scrub the kitchen floor in
40 minutes, while Ira can scrub the kitchen
floor in 1 hour. How long would it take Buck
and Ira to scrub the kitchen floor if they
work together?

A 15 minutes @4 minutes

B 20 minutes D Half an hour

2 When a group of people consisting of 52%
males is joined with another group of people
consisting of 48% males, the result is a group
of 15,000 people consisting of 48.8% males.
How many people were in the two groups
that were joined?

/A)ooopeople in the group with 52% males
~and 12,000 people in the group with

48% males

B 12,000 people in the group with 52%
males and 3000 people in the group with
48% males

C 5000 people in the group with 52% males
and 10,000 people in the group with
48% males

D 10,000 people in the group with 52%
males and 5000 people in the group with
48% males

48 LESSON 16 • Rate, Work, and Percent Mixture Problems

3 Some water that is 96% pure is mixed with
10 gallons of some water that is 99% pure to
produce water that is 96.5% pure. How many
total gallons of water were mixed together?

A 30
B 40

C 50

@o

•

©

4 Cars can leave a parking lot through two
exits. If cars leave only through the first exit,
the full parking lot takes 1 hour to empty,
and if cars leave only through the second
exit, the full parking lot takes 1.5 hours to
empty. How long would ittake the full
parking lot to empty if cars left through both
exits at the same time?

A 12 minutes 06'minutes

B 24 minutes D 48 minutes

5 Bruno's Pastry Factory has two jelly injectors
to fill Bruno's jelly donuts. The first jelly
injector can fill one of Bruno's jelly donuts in
0.6 seconds, while the second jelly injector
can fill one of Bruno's jelly donuts in
0.9 seconds. If both jelly injectors were being ,
used at the same time to fill one of Bruno's
jelly donuts, how many seconds would it take
to fill the jelly donut?

A 0.34

(!JO.36
C 0.38
D 0.4

CA Standards Review



3x -l- LX -=- J 2-<:5
5x = J2.D

5 S
X=-2- Y- yv\\Y").

If\J 2) % ArnlJ[[t'\+ i/i TOTALS
.G-tt)VLP I .• 5'2. X /' 9 S2 X

t; rL>c.r 2. • Y S 0S;060 - X ') O/2PO -. 'f tx)
M'Xe.dG!~ • Lj s« \1:5/000 t I) ;3 '2-0

.S-2x +- (7J2J)O-o~gx)-=-7 320
~ ~ J

• Y x + "'Z2-00 == 7320
-72:-&0 -7200---

s y X ::::12--0
o ~ o·y

)(::: 3; ()aD



~

[QJ 3)
0pv,vz ~\-Lkx !4vv\cQv\t

16 QiJ q 9b >< o96X
L1 q1~ C! c". 10 q <~ oro I

qb ~51v o cl/;5 (x+-[c)-,) ,9 itS-x + ~ t:;

. S/

~ q6 A_ -+ [1;? qo- e> 1(£>( + q,~t_s
~ cl, 1,5- -q~ 65

"~'>( +.2S~ .'16S-x
- " 9bx --,,9 bOX

.,25 -=-." 00 C:;;x,
~00_C;- " 00:-;-

50 -~x 66 = "10 +cd
I .. i&'6 ~1g:O ..

box + «c 'x -=- I'lgo

3'x+ LX -= J gO
_~ :=: '!b

x:=- 3£



t . ~.

3x + 'LX = i.e
- I 0'>'s>< z: ··0

x, 2/= I$'-)C

.<·to.ndCtrd s Re\l ie.HJ - les!; o n 11~. ~ -

I) B 2) A 3) J3 Y) D

I) D 2.) D
.
. S+OJndO-xd s

I):E 21) L

5) (6 b.).A

3.) c.
t/

-; A
'~€.\J \ 01vU -le~s0 VI / q

*-3) J3 Y.) A LAn~. C



-ci
Q)

2:

~
~-=.§'
<:

C=e=c::~
0-
c::
0
l::!
0
Q)

0-

'"0
""c::

~:::c
::::>0..

...;
..!:
c::-
0=8
::::>

-c
L.U

c::
0
l::!
0
Q)

0-

@
-=

"".~
0..
0'-'

"~

Name
(~_Class Lfte,r\~· .~n~

1 Janice starts the week with $4.00. Each day
she does her chores, her mother gives her
$0.50. Which table best represents a, the· total
amount of money Janice has after d days of
doing her chores?

A d a

° $4.50

1 $5.00

2 $5.50

3 $6.00

3 The mapping diagram represents a
function f( x )-x

Which of the following isJiQI another
correct way to representf(x)?

'jt;A f(x) = {(-5,6),(-4,5),(-2,3),(-1,2)}

f..1Qli)x is a negative integer greater than -6
~ and y = -x + 1.

\.~J~~c y = -x + 1 and the range is {6,5, 3, 2}.

li4-~D The domain is {-5, -4, -2, -1} and
"J y = -x + 1.

Which of the following is another correct
representation off(x)?

A y = x and the range is {4,2, 0, -2, -4} .

B x is every integer between -5 and 5, and
y = -x.

C f(x) = {(-4, -4), (-2, -2), (0,0), (2,2),
(4,4)}

D The domain is {-4, -2,0,2, 4} and the
range is {4,2,0, -2, -4} .
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d a ~1Ov'(\,:

° $4.00 ;)

1 $4.50 ~

2 $5.00 ~
3 $5.50 -t.~

C d a

° $0

1 $.50

2 $1.00

3 $1.50

D d a
0 $4.00

1 $4.50

2 $5.50

3 $6.00

2 Which of the following is a correct
representation of the function "y is five
more than twice x"?

~y=2x+5
B y = 5x + 2

C y = x(2 + 5)

D y = 5x + 2x
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1 Find the domain and range of the function

graphed below.
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3 Ms. Drazi bought 25 gallons of cranberry
juice for the juice machine at her office. The
graph below shows how much juice was left
over time.
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A Domain: 0 ::s.x ::s 4; Range: 0 ::s y ::s 4
B Domain: 0 ::s x ::s 8; Range: 0 ::s y ::s 4
C Domain: 0 ::s x ::s 4; Range: 0 ::s y ::s 8

@Domain: 0 ::s x -s 8; Range: 0 ::s y ::s 8

2 The graph below shows the temperature
recorded at a weather station during a
period of several months. Which inequality
best approximates the range of the function?

Time (months)

A O::s x ::s 20
B O::s y ::; 20
C 20::s x ::s80

G20::S y ::s80
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What is the domain of this function?

A 0 <x < 10

B 0 <y < 10

{(£)O ::s x ::s 10

D O::s y ::s 10

4 Determine the domain and range of the
function graphed below.

€)Domain: - 3 ::s x ::s 3; Range: -1 ::s y ::s 3
B Domain: - 3 ::s x ::s 3; Range: 0 ::s y ::s 3

C Domain: 0 ::s x ::s 3; Range: -1 ::s y ::s 3
D Domain: -1 ::;x ::s 3; Range: - 3 ::s y ::s 3
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1 Which ofthe relations isa function? fJ 4 ich of the following relations is a 1r~'
I. p . . )(j5 t' '\ nction? X I~ CLl~f)'-t repeQ:4- . 1.1.1

1
Ii

QV,N (20, -2),(1-1), (11), (20,2) c.nn j". . !

. (-2,20), (-1,5), (1,5), (2,20) re.pecol
.( ~ A (-12,9), (-:9, 12), (~,12),(12,9) .q I

NO (~-8), (6, -8), (::,2.,8),(6,8) " 'B (;:2, -12), ~,12), (9, -12), (9, 12)~,¥~iS I

tJD Q2..-9), (36,8), Q2, 9), (0, 10) ~ (-1~, 9), (-9, ~), (9,9), (12,9) j;:..
d> (12,12), (-9.,12), (9, 12),(12,12) \1.. ~~

~ dIeD

2 Based on the vertical line test, is the relation
graphed a function?

y
8

6

4

2

-4

-6

-8

/' No, because any vertical line passes
through the graph of the relation
only once

/No, because atleast 1vertical line passes
through the graph of the relation more
than once

@Yes, because 'any vertical line passes
~/""through the graph of the relation

only once -

D Yes, because at least 1vertical line passes
through the graph of the relation more
than once

3 Which of the following relations is a .
function?

tJ0jl (0, 1),~ 9), (2,33), (3,73)- .

. (j< B: (0,1), (1, -7), (2, -31), (3, -71)

\ c?(::11, 15),(-9,10), (9, 10),(;Jj,25)

.~)ij)(~~-11), (10, -9), (1~,9), (!1, 11)

CA Standards Review

5 Based on the vertical line test, is the relation
graphed a function?

-9-8-7-6-5-4-3-2-1 2 3 4 5 6 7 8 9

A No, because any vertical line passes
through the graph of the relation
o,Elzonce

f BNo, because at least 1vertical line passes
through the graph of the relation more
than once -~ ..•
.•... -- ••....... ~

C .",.Ye?,~~e any vertical line passes
through the graph of the relation
only once

D ~(because at least 1vertical line passes
through the graph of the relation more
than once

6 Which of the following relations is a
function?

.~~ (-"-1,2),(0, 1), (1,2), (2,17)
"\..~

tJi ~~-1), (1,0), (b,1),(17, 2)
·)0~ -1),(-1,0), ~1), (15,2)
o~ i) (5,-1),(1,0),(5,1),(17,2).f __ _

LESSON19 • Determining If a Relation Is a Function 57
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What term is added to both sides of the
standard form when completing the square?

1Which shows the use of the quadratic
formula for y = x2 + X + l?

{).. 10 c..
/,/, ' 1± VI --: 4(1)(1)

,A ,A: X = (2)
~"-W"x il)t vrl=;=--4~(-I)-(-I)

."

C -1 ± Vk 4(1)(1)
x= UJ

-1 ± V~1---4-(-1 )-(1-)
2

bC 2a

2 What do you do to the standard form of a
quadratic function to change the coefficient
of x2 to l?

A Multiply both sides of the equation by -1.

B Divide both sides of the equation by a.
C Multiply both sides of the equation by a.

~ ' The coefficient is already 1.

3 What does Vb2 - 4a~ equal when using the
quadratic formula to solve the quadratic
function y = - 2x2 - 5x + 7?

C\. b C

~5)2_4(-it1)
'\[ 2.5 +" 5~ .
'\j a\ ~q

60 LESSON 20 • Quadratic Formula and Its Proof

@(tati/
\, ~\,

4xl. -+ eX -T-t\=0

5 Which shows the use of the quadratic
formula for y = -6x2 - 2x + 1O?

~ 6 ± V6 - 4(-2)(10)
~ x= -2

-2 ± V4 - 4( -6)(10)
B x = 12-Ml ( L,\0- V- V4 - 4(~)Tl .../l ,-~I

~ -12~

6 ± V36 - 4(-2) (10)
X = -4

6 What is the denominator when using the
quadratic formula to solve the quadratic
function y = 10x2 - X + 4?

0. 1-..2-- b -\-<:..
A -20

B -2
C 8

D 20

)( -=--'D!"\J '02-L\Q-C. .

,2ei»
2.(\0\ ;;.2.0
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